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Passage:

e felfafad Tt ufcan uym! fasearamg: Sfdary 3w fuar forad|

FRG o URGR HIfI Sregardl S | T g Harafy s aarid st giar uoiify favard Aikesaqean: sram| O ST Sl sargedT Tarfawad "Us: 34 Ioad GuueRl Jsdrg I 9r
TTETETA: I N ST |

T YIAT U IR Wefard- “o1a: Wit TikSager 39 Jafd woag 3fal usfa: awm: Ay srgidaadt | S-ieg: TId O adt TIRGaqe 3 3af Wl 39w GUues Ysag 9 ST dNHard| TR Har R dig
| oy wenf fadiuff srva | srergerar fAeRT g sivag |

1R wrfgd- “ATd: | 7T aq Wi dedfaia $Oar TH SfRTY: eFdn 3 | aq 4l AgpT dia: Sgad] siaed| “AEags St qon: TyrEsT: iy S| 9y serd wet T Haq | ga: gaarmfy ohf
© gugd Ha" 3 qafawi T Siargaan SgeT e |

Q.No: 1 UN: g&f: Jouad QUSRI Yty THNT = fasfal e Rimmfe?

A GeferT: |
B fearar:|
c ST |
D FRAATA: |

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tobe:— AHNfeIRd el ufdan e fadeaiareaveg: Ifadany I ferar feraql

ngmmwm | T S A e G STETR R quii fawrd ARG aqe: ST | T T Pl Sarged Tarraad "T9: 3&: Joac QuueR Jedyg arged ar
TTETHTd: TR T $yaa”|

T YT YR Wefard- “Hid: A ARG aqge 39 A Wuag 31 v T e sriEdaadt | Rgg: THI O adl TIRSagY 39 Iaf VI 93w G Ysar] 9 ST AT | TR Bart 4R dig
| aifor wenf Ao spvar | sreTgerar vl eI siaq |

1R Wrfgd- “HTd: | 5T aq Wi degfaia $Oar TE SfRTY: e Sfd | ad Yol 9gpT Taia: Sgadr siaed| “Aagst st qon: yrasT: iy S| 9y ser wef 7 43 | ga: ga ey ohf
o gyTgd Hg" 3y gafawt T Srargedr SgeT Sivad |

Q.No: 2 T HaT PR Urefad | T 2

A ST
B S|
c Reseano)fl
D Nusar

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:
Hha:— SiNfrRac Tendl ufe@n Hum s aere mea: Jfadary s foar faadl

ngwﬁémwsm | T S B S| G ST R qoii faRard ARG aga: ST | O T Pal Srged Tarraad "T: 34 Joac JuueR Jedyg argd ar
qaaa:qgv-[ : 3 |

T oA Yo Tnefad- A T ARGage 39 SAf wuag 31 upia: T A srimdadt | SRy WU O 1 ARG AgE 39 ST Wl 99w GEuETR Ysdrg 9 ST dvHarg | | Har HR dig
| aifor wenf Aoy srva | SreTgerar vl JsIgarn syaq |
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|1 R WfId- “HT6: | T g Wi qegfaaia $Oar TH SR S 3 1 9 4o 9ae Pia: SIgad sacd| “AEags! sifent Jon: TyEe: sy a1 3y say wel 7 4aq | ga: ga e off
 guIgd Ha" 3fd yalawi UIe Srargedn SeT Sivad |

Q.No: 3 Jid WG| P: WHR:?

A Tl
B Rl
C el
D g

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

- el TTenr ufdn wum fadsearasRg: Sfdary S faar frad)

BRI 6 UG BIfI Srergardl SR | ol 9gf Barafy o1 aerdid sert giar quify fovard ikaqe: srame| aF 25T Falfiq SargedT Tarfl-ad "Uu: 38 Ioad qUueRl JSayg Iy Ir
TETHI: WG I ST |

1 HeA U aHTaR URfad- A HEfl ARGage 39 I wuag i) uela: aan uriAe srgigdad! | SRy UHI 1 Al ARG g 39 Iaf Wil 93w IR el 9 ST dvHag | )R el HR dig
| I Wt faionit srva | SreTEear Rl JeTgan sivag |

1 gRA yrfgd- ae: | T A Wi aegfiaia $Oa A SR Arar” 3f | A 4 UegeT UPto: Sgadn sfaad ) “Heags) Shfaet qon: urasT: Ry Sicarn | 3y et wel 7 43 | aa: sdumhy Sif
© gUgd Hg" 3fa gafawit T srargadr It SiHaq |

Q.No: 4 RIS fort serd el ek fopmy

A 3=l
B q:|
[ Wéﬁq:l
D Kl

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

G- Nl meiei ufsan waml s r: Ridarr st frar faadl

WW@&T%WW | T SR By S Ay ST gia quiif favard ARGadea: S| O T Pl SagedT TaHtaad U: 34 Ivad GuueTR IS I Hr
qaa%:q’g;r:[ : 3] |

T YT U IR Wefad- vo1a: amfd Tikeager 39 Jafd wag sfal uasfa: awm: Ay srgidaddt | S-igg: I 91 adl ARG aqe 39 3afd Il 39 GUusY Ysdig 9 YT deHad| T Bar R dig
| i et fAdion e | STl (Haki JeTga A |

|1 gRA Urfgd- ua: | TEn aq Wi degfaia $UA 3 SfRTY: eTar” 3fd | A Yl IgeT Udla: Srgadny sfded | “Heagst Shfant on: aHrasT: iy S| 9y Feift wef 7 43q | ga: adumfy Sif
o gugd Ha" 3 yafawii wTr Sargaa Sger Siad |

Q.No: 5 =Y - faugar far feraal

A 7T g Tl
B TB1 sAfewE|
C Ekuistd]

D QUIHTRT ST
Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hoba:— N Teiel ufe@n wum s aere rre: Jfadary s fwr faedl

Wﬁmgmﬂwm | T SR B S| G ST GRaT qoii faRard ARG aga: ST | T T Pald Sged Tarraaad "Tu: 34 Jead QuueR Jedyg argegd ar
TTeTHETd: TR s SFEA|

T YT YR wefard- “Hid: A RGaqe 39 At woag 31 v awm: A sfiEdadt | oRIgg: UHI O Idt TIRGagY 39 Iaf I 93w GV Ysar] 9 ST dAHAIT | TR Bart U dig
| aifor wenf fatoif spva | sreTgerar Rl RieTgrar siag |
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|1 gAY yrefgd- aa: | an aq Wi aegfiaia SO B SfIRTY: ear” 3fd | O Yl IegeT Wta: Srgadn sraad | “HeagsY Shfant Tom: TaHTasT: sy Sieuar | 9y Feift wef 7 43q | ga: sdumfy oif
o gygd Hg" 3 yafawi W srargadr ST G |

Q.No: 6 ! Hal u Wifd defuaia | arr wrelymae far feradl

A |
B |
C e
D Shmq

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:
Hha:— SiNfRac Tendl ufe@n wem s aere rrea: Jfadary s foar faadl

ngmﬁgamwm | 7 g Bl S| deHY ST g quif fawdrd ATRebega: S(ure{| a1 €51 Salfeid srigedl GaHaaad “UN: g4 Isdd JYUPR Year] Tgyg r
TreTed: HeH s SFYEA|

1 T TR T~ “HIe: A Tagar 39 Saft WITag 31 Tl TRk T srieaad | oRIqg: WISl IR agel 59 Sakt T 93w Ve YHarg 9 Sy drEard | W Hart 4R dig
| aifor wenf fadioff snvae | srergerar ARt Weptgran sivad |

1 R Wfga- “aTd: 1w g Wi dedfaia SO TE SR erdny 3 | ad 4ol 9y eia: Sgadny siaed| “Hagst sifaat qon: Wyrae: sy S 9y s wef 7 4adq | ga: gamfy off
© gurgd Ha" 3fa gafawi W Srargadr et SiMaq |

Q.No: 7 FYYd Hd - e a2

A 3|
B el

c A
D o]

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

- TR e ufden wue fasearas e: Sfrdars S faar e

Wﬁwﬁmﬁ%&mﬁwﬂﬁa | Tt 9gF ARl SR deEiy enerdt gRanf qufx favard iR&agan: S aF 2gT eIl Srgedr TaniamaT us: g Sodd YUY ey Iy 9r
qaa?x:qgﬁ[ : 3 ”1

T e Y fama] Tfad- A T ARGage 39 S wuag 3l upia: g wAe simdadt | SRy WHI I a1 ARG AgE 39 S Tl 93w GEUER Ysdrg T ST dNHar | | B HR dig
| i Wt faionif siva | SreTgear Rl R A |

|1 GRIY WfId- “H16: | 77 gq Wi qegiaaia $Oar TH SR e 3 | 9 4o 9ael UPia: Sgady Saad| “AEags! sifant Jon: TEeT: sy $ferar | 3y sary wef 7 4aq | ga: ga s oif
© gurgd Ha" 3fa gafawi T Srargedr T SiHaq |

Q.No: 8 adr - & faufda:?

A il
B G|
c =gdfl
D Rl

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

b feNferad versi ufean v s euree sa: Sfidary s fwr foradl
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it iEmimy M #FFE FPERANMA TR N s R
- - - N
HNIETS Sfﬁan éa N aih?il \',:":f:ﬂ b[a

T fafgarearstn

R RIEEC IR RGN

BEHESERERIERIEUIEZ G
Q.No: 9 o: GRATIHATAR ?

A ﬁlf:

B EC-H

c T

D e

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Ao reliferiad Taet ufean wemT fadeurer ravea: Sfedary S far fagdl

o= o~ -~
"I"ll"h{lbl :J_hlc'. I.‘ol EEIEENIN]
ﬁTﬁWﬁ'ﬁﬁPﬂTﬁl

EELNEEERERIERIEUIES ]

Q.No: 10 FHEIN I%: Iafd ?

A e
B pic)
C g
D e

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

- SNt waiixi ufewn wyMi RAserasR®r: IRdany 3w R firadl

ZIATHRLISY pr SINEETIEENIN

2

o o
[REICHICEERICIFRIERINEL
RS IR RCESEGIR IR

PN -~
REUERRNMEIRIERIEUIESIERY

Q.No: 11 $Y TUENAERON 7 T ?

A 3Ty
B firy

c Yy
D EUECHS

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

arg:— reliferiad weri=i ufdar wymT fadeaereayey: Ifdany Iw e fraql

o ~ ~ o~
”I‘-ll“r“\lbl'-{ Flcd Ibl'*l EEIEERING

=

~

ﬁ e S .
IH’/HQHI"IHH IEIRGIERINEL
RS RUEFCEGR G KT
EEUEERRMERIER I EUIES G

Q.No: 12 e %1% Yiw vaigue & e add ?
xfx
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it iEmimy M #FFE i Rl hll Dttt g B
A Xy

B SiffdE:

C e

D fRxumd:

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hohd:— Jeliferad Teei ufswn WeT fadeurer® vsa: Sfrdanr S fHar firad|

- .~~~ s~ o~ = e~
HEIERINERIERINEREIESTINE
= N S e S S oS
IMEIERIBERERCIFRIESINEL

EENECEREIERIEUIEZ iG]

Q.No: 13 ¥ za® fopamag e

A yafd
B e
c g
D Bl

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

b Srehferict weni=i ufeen wyMT RdearasRg: IRdan S fiar fRraa

ATy FieaATsTU watzha st

LN N o S S S .
THATAHTTTH ] Tdlgdli=4dTI
El;.«ﬁmimq’\a S "’Iillﬂa %‘
TATEATY TR T =TT &7 |

A forar
B agur
C ERE
D Bl

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

- eNffEd yaizi ufdear vyl Rgearae R Sfidany 3w R firgd |

o o o
ZraTRISTa Fears ¥ wafadrsiy
AraaTIaRy e

o

IERCESERILEIR
= o
AT oA T =TT &1 1

~

Q.No: 15 5wyl ~gHAfd=se e |

A T+l
B G- a5k
(o} T+ qdl
D T+ ST

Correct Ans : C
Subject : Sanskrit Bhasha 02

SENE R R

e il e e it S
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it iEmimy M #FFE R hadbi i pall a

Q.No: 16 "Gafl: 3T ... Wi-r-Reawm Tgfr ug fege
A i

B fopm:
c ffor
D et

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 17 T 30 F: UUY:?

A fayq
B 7T
c g
D L

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 18 ferr 3fd ugws Hisy?

A T
B Pl
C Rifr
D T

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 19 HHf & T - TS Podl

A STGET:
B STHgE:
c STIgEng:
D amgay

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 20 ufg ufg 9k X' 3A Ffug fiF waq?
A o

B o
c g
D G o

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 21 WgHIf 3 vewy WRA-fAwde: &2

A TRT+ 3fH
B TET+Sut
c I+l
D HE: 4+l

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 22 arfeTuigerqy &4 &: fawon yafa?

A =
B q
c ol
D #q

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 23 ikl 3 U& P WHE:?

A aﬁ%:
B AGR:
C SUYCHHT:
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D FHYRY:
Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 24 v urfig i@y @: ywiasd Anf: 2

A U6 SAGEHY STHRUI-HMT U6 |

B T RARTHERUS T SR SRS |

c TEHITER SRS, A FIAF Sfassr: 43 |
D TS SBRUITEHAMT UIS+ T SETERVIFOT |
Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 25 U SiftpmArf fo ARG Aew@yui ?

A rfayr:

B it f wghs
c TG

D Ui

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 26 HTeH UHT UINIRATEDT KT | 1 A0 TSI 3MTed aui TeiReaHi = R0l S SEF MG | T deiH1/ggi: Ihd----

A fomgr: sfa

B Teqwrer: 3
c TSl i
D wreafmior: 3fy

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 27 HINIT: WHRI-aTHR I Heargamd aifes-guged: uy: Sl Hafa?
A e

B faBeqeT®: (Objective type)
c Hfreg-STIH:
D Ae-ITRIAD:

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 28 TUBTYGHIERRS:

A HISTA e YR 9 SrfFuRom
B HEISaTEG ST IR

C IS TSRV fyaRony

D BEI USo IaHIeITSTH
Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 29 HI-sifa sifvqfefaioea: sravaeafa

A RIS o1 dafied uReat gy 9 i 9 oeH weH 9
B iRyt ol aféH 7 wmfeds Srfy
o VAP TR AT SR

D iama Hared o 7
Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 30 A< AHHURIRE qa Ty TS JIfed I
9 7d) Ae: oK1 Ayt aEee on: 5y silema?

A QeiTa-HRiT dEH T HIAHeg T |

B it SfSPRITR

C - HIaTHS iafar

D e Sfgwlwl i = waes vk

Correct Ans : A
Subject : Sanskrit Bhasha 02
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L gl il g D

Q.No: 31 W Jeaic &1 WiloH it fafkiy st uferar & Heredail &1 T¥ =1 8l 7, o Tl gediehet....... e Fead gl
A R

B FrfoeEs
C TIATHS
D [ESEIEIcES

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 32 FE & & oo of srqenr 7 8 Hgw T foam omar 82

A TG Y

B [Grepeal

C Ti@F areq Bt
D qE F B

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 33 = & vy WRertr &R Wil & &R & Wken Bl
A 3 AT Tepeam 1

B Wi fraR-fawt @ fovea =t 31

c feraTendiT 1 foree & 31

D 3 - Wopeamy et &1

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 34 Tt 3} aRdfa® 51 § Ud SuST URAS Sifd X A a1feY, 39 uRfS S| & e # ¥ 1 Fed 82
A uiade et

B Terwur fafdy
C Xarae fafy
D Sifriiore fafy

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 35 e & § urwr @1 e F sravia T &1 7@ 3 g2

A Segdes yaqor

B Fad FYdD 4T

C Faa @ HJu

D YD HaUT F WY~ &Y Haor

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 36 = & q I & AT, R, Uidl BT AU § HaT T B 2

A RS gy

B A Heiy

c S WEy

D IR & Y-y RS ey

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 37 fm # I BHEl & diemn dies & for fdemaa & Frafafed frareandl & @ faaeT wai =81 fear o e ?
A fea fafy

B qrateng
C I
D SIERt

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 38 T Wy |
A & Franes e g
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= iy MeAe 2 8 I M M it g A

B T wied g &

c o v oE §

D FHINU U UHHE W §
Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 39 HINI dd Tad Weol 3R uHrdt &9 § it ot § o

A TS e FSR AT T §

B T TN T e T S |

c UTST &t UTeH-GRae H oifies J aifies uret o1 qHaw 8
D T & i oW FY S

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 40 =i # werm & m: frfiar T o= o=t Wit & oo Sfe-1gal &1 WHAl Svd € it
A o=t dira & v 37 el Bl @

B RATga o Uw §
c 3 7 e TRl et Wrea
D wra: Rt SR St WM Y TR F SfeR e §

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 41 g & I o1 e e & fafy 1t g2

A fRrgia fafy
B ST fafy
c ve HreT Rreor fafy
D A fafy

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 42 wfaar &1 gt Geaid 9 fbar s 32

A T YOIt gRT
B I woTTeRt gRT
C IR TR ERT
D Fite womeRt GRT

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 43 =t yTe1 & G| 3R IS 3HThe FT I=G I8 W1 § &

A = 5y e 9 IR FA §
B & N T
C el Y SRTC Heam H Tiad frar g srar e

D = HQ Wea &

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

A& = AT e T B geR U Y R & 9ed 3fd SaR 9 fawe o 999 Sifn-

i v

YR e # T 9 Rufy e fadteryragef 38 31 WRefa ua ¥ I fd qmn mn € o dieue 3 S s w31 ufedl F WAR it 979 o e Dt B, fF 3% A 1 7o vl 9t Qe umfa @
SR & I T Sa wwar §1 o Ry gdan € w9 1 9% Ry 7% Tl # o of Sosh g © oIk R s §, il et o) U w1 uide Sme # 391 T ewl GHISRINRG €Y 39 9N # 6 e
&t &t fRufa ofR o sgd 3o wiFl, Teie T S weRTs W snenfd 31 T d onf ok o &1 siiiifoe fRufa & iR (5t 9 ) ol miguarers aiar & Wi € 9 § 9k S ofieR uma §1 8
I Ry oS T TR 2 3 Rl 1 Xaifnd Fed 31 7R g 9% 38 © R 5 ol 3R & srurgery & ol Ty A A% ¥ el 31 sifdare ufde 3 3 uRararg @ of
BHR 1 g FHRT Y o §) SR WS oo BT 3O 3 g1 § ol 81 I8 I AR A §1 R iR Ity wrwRedt ok Rl & srgeu 1 @ad, @S ouw fomn feffa g fa, R

oY % “whiare’ &1 orf ufkar dreT a1 arifois faeesT a1 -1gt € SR 1 € off9iig g &1 Aaad 9% § [ 3iRd SiRd 7 W, §9 30 gl 39 Sl &I 9T 3% 8l

Q.No: 44 IUYF TG T & STER THORIGTT € TR 37 & ARG 3 Ry & 5 a0 ) SoFR St © 2
A fRerdt 1 g & i & F9 S

B Rl @7 R-UER ¥ ufa erafie S
C Rt 7 TR Rior @

#0pt
D

Rl Bt RURY 1 st a1 1 B, THEIS 3R R ReRmel W Pk awar 21

Correct Ans : D
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Subject : Hindi Bhasha 01

Passage:
e T Ay T TRIY BT Ugak I Y Ul & e Siud SR ail [ded $1 99 BIvIg-

R Fare 7 AR 3 Rufa Taga faRieryragul 8 31 Iwpfa uar & SR wfd 7T T € o v A S e Sl 1 ¢ 1ied! & GBR 3 o 3 Tedt gl B, fF 9 7 ol $o anf 3t Qeifdres i @
ST & I foeman S wdar 31 ora: R gdad & &t @ e R &S mmell A s o Sosh g8 @ oIk R srue B, w1 ast o) ued @) ufdedh SR F | dew GHISIIRNY P 39 aR F 9 @
ot 31 Ryfa ol wifa sgd oo Wi, IMeRie 7 S WReERTs W SR 31 T & o iR t@ & e fRufa & iR (feht Ioa ) o arquae® aivar & i 8 gfear § ofR 39 oifieR wa 81 3
I R TS T ST 2R 3 ATl 31 Yeifed S 31 Rt gui 9% e © R g ol 3R & smurgerr Y o Ty A 9% 71 e #1 vifdare uidh 3k 9 uRararg & of
TR S gt IRty o fia) SRt G SfEIe Y o Bt g1 B ol ¥ U8 Ue e amn 1wk iR Ity et ofR Rufadl & oy B wed, $1S 9oue faxn Puffa fw fae, e R
U & “wiaw 1 o TRaR digT a1 T fgeT @ T § iR 7 € sene B B Haad I8 © 5 3iRa SiRd 7 R, T 310 57 39 ST 3 9 ) 8

Q.No: 45 fFEfafad & & AR 30 & opft o AR &1 Rufd & Iworeia gur &t =181 & orar 2
#0pt
il &1 0 W & eivid faarg & S

B et 1 fRigm & & F 7 I S

C Rigrifa @1 et & fae S

D TEA TR o §U TR WM WHR TqH FH1aE § 5

Correct Ans : D

Subject : Hindi Bhasha 01

A

Passage:

= A g M Y @Y UgaR g Y U & Hed IfYd IR a9t fawed &1 9 Sifvig-

YR el 7 T 9 R e kel € ¥ SRl ue & I e amn wn § O dieue 3 S s@ar Se T 81 el  WHRI 9IS g T8 Bl 7, 5 9% A A 7o vl 9 Qe wfa @
TR & I feama Sl 9ol g1 ora: Rufa gdaq € &t 8 I Rufa 3¢ ome § oF ot Iash g€ § oIk fox oruwe B, Fiife gt o% U= &1 ufddt o § S| 1| deR TueRIRG 2P 39 AR # T W
i 3} fRufa ofk ymifd wgd oo W, IeIRis 7 wIdg WReERTs W ameiid 31 T € o iR @ € i Ry & e (feht woa ) i Arqeiaere uRar o w8 g § ok S9 SifieR wa g1 3
Il U TIForE XE 1 AR ef® $7 faftrarell &1 Yaifed ot 81 gaRT guia 7% Y61 § i g ufedl 3 & srugaRur 31 sioelt iy A 9% §) diefie @1 sifdarg ofidt 3= &) uierarg @ of
TR O g THRan e o Sia) It WS Sf<IaE 3 ouaH Bt gl H ol §1 U8 O e am 31 R iR ety weRmeif ofR fRUfad & sy 31 aed, o woue fexn fuffa e o, R
U & “wiare 1 o uRaR digT a1 S fge @ e § iR 7 € oene S 1 Haad I8 § 5 iRa iR 7 W, T 9197 951 39 SfaIaE @ 9 8@ 8

Q.No: 46 Iudad el & Ta¥ & 39d HuA HT 957 FfTe-

A TOR g1 Al wael F Rl o R oiR Wil 9gd oo kil IeaRie 9 i wReRmsl R i 71

B FART gui g a1 § e 5 ufd 3= & e B s Iy T wed

c @ g o1 iR U e Ry & R (it s B) ot T TiaR 7 it @ ol § ok 39 ofteR ua €
D YRt T F R ) R e Rdumiregf W@ 8

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
& 7 o U TR B UgHR U TN Ul & 9ed 3fd SaR dr [qde B 99 Sifor-

R e # TR 3 Ry e fadierragef 38 71 Wl uar A I fdq A mn § o dipua A X emar w1 T 31 9fedl F WHRI it 919 g e Al B, 5 3% A 1 7o oWl 90t Qeifores wmfa @
STETE ¥ I feeaT SiaT Fed 1 31d: UMY qdad € o X8t ge Rufa < Al # o +ft ol g5 § ofR fomm s §, T agt o) WA 1 ufde omsA W S | dew queRiRed TP 39 9 H T @
&l &) fRufa ol wifa sgd g0 =iy, SeR® a SRig wReRs W snuiRd 31t @ ef ok uw €1 ivitfoe fRufa & iR (ol Isa ) &l migeciers uiar 3 w0 € 9faar § 9k 99 oifieR Ui 81 8
ITo! Rufd THoH® R FHORIRT 2 37 faftarsli @1 Xeifed Sl 81 §AR1 g I8 6T § & 70 Uil 30 & smrgexul ol oo+ Wifd OF 96 &1 ‘diiafie 37 sifdarg ufdt <=if ®1 uRararg o1 of
TR O gt SRR A oY SR St O S 1w 3 81 A il §1 98 Ue R amn 71w ok Iedty Rl iR Rl & oy o e, $1S goue faxn Rufa feg fae, e s
e {5 "wiare &1 orf uRaR dis=T a1 T feed T =18t § iR 7 € 3iile 8 &1 Haad 98 § & 3iRd 3ikd 7 W), 89 /07 Tgi 39 3M<IeH &1 9a1 38 8l

Q.No: 47 Iudea el & Hef # PH-91 $UT oid: § §?

A YR TA F AR 51 Rufey e e rergef XEt &1 SR va & S ifd € A e ¥ < deue 9 S ei|ar S T 8l

B YR gae & T ) R wage fRturiragel W 31 Sepla vy @ SR areer A € < ey ¥ S fE wen T 1

C YRt TS § TR 9 R e eyt € 81 Sl vy & S i o T R @ deuy 3 S e wEl TR

D ReT gt 7 A Y R e faremumagul T < 31 SRl ue R SR i W ¥ W diduy ¥ S siwar 7 7 @ g

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

e R R T Y B UgH] UR T U & 9ed e IR ad faded &1 9 Pivig-

R et # Y 9 FRUfY Tee fakteryraguf X8 1 SRl uer § I fd A wan € o diuer A S o Fen T 31 Wiedl F WHR F 919 g9 T8 Bt B, fF 3% A A 7 avf 9 Qe wmfa @
e A 3% fRemar S W §1 ord: UMY gdad € o+ ¥dh ug RfY & mmell F ora ot Iareh g @ ok R srue B, wiifd Ut wR wxA @ ufdedt oy | a1 N dewy wHoRIRG € 39 aR H T @
i 3 RUfy ofR wif w5 oo Wi, IeIRe a kg weRTs W amfid §1 T € o iR @ & e Ry & fiar (et wow &) ol arqaiarere ufvar & w8 gfear & ofR 39 oiftfer wra 81 3
It Ry TrFoH® T SRR 2 37 Rftmarsll o Xwifha o {1 gART gy I8 38T ¥ [ g0 ufdnd 32 & srmgeru Bl oo wifa o 9% €1 diieRe @1 sifdare a4 3 uRararg @t of
BHR SR gl FHRTy Y o SR SR Wfd oo BT 3 31 g1 § ol 81 I8 I ARG A 1 R R Ity wReRedt ok il & sy 1 @ed, Bis gouw fomn feffva fabg fa, e R
oy & wiare &1 s1f uRaR dis=T a1 IS Rge a1 e § 3R T € 3ol 8 31 Haad 98 § 5 3iRd 3iRd 7 ), 81 391 Tgi 39 3M<IeH & 9a1 ) ¢

7Y PR Y D 2 o o e

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/42
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- ¢
Q.NO: 48 XGAPIX H I1HICIRYA H S PI1=-X1 HHI B 7

A SeRiTHTE T
B TS T
c g I

D o] v

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
& 7 o U TS B UgHR U TN Al & 9ed 3fUd SaR drd fqded & 9 Sifor-

YR T § R Bt Ry T gl | 71 iRt v ¥ 39 i 3 T & o dieus 9 S eEar FE1 T B AfeH! & WHRT Y 918 3o Tl Bt B, 5 3% T o o anl 9t Dedre wfa @
STETE ¥ I feeaT ST Tl ¢l ora: UMy qdaq € o ¥t ae Rufa < Al F o +ft ol g% § ofR o s §, T a5t o) WA 1 ufdeh omsA W S | qow qHeRied = 39 9 A T @
&Rl &) fRufa oiR wifa sgd g0 wiFiy, WeiRe a Sty weRTsi W s 31t @ of ok uw € sivitfoe fRufa & iR (sl Isa 7)) ol migeciers uiar 3 w0 € 9faar @ 9k 99 oifieR v 81 8
! Rufa THoH® K FHRIRET 2 37 fafarsll @1 Xeifed sl 81 §AR1 gy I8 @1 § & 79 ol 32 & smrgexur ol oo+ Wifd TF 96 ) diiafie 37 sifdarg ufdt <=if #1 uiararg o1 of
TR O gt SRRy e oY S} S O SE B e 3 S A il §1 98 Ue R amn 71w 3R Idty Rl iR fRufadl & oy B e, $1S goue fan Ruia feg fae, s
Tt &5 weliarey 1 aref uRaR e ar Ao faget @ e § SR A1 & og 17 &1 Haae I8 § % oiRd ofkd 7 3R, T o/ T71 SN 3M<iad 31 9a1 38 7

Q.No: 49 FFRiad # § T=d Isg 1 997 Bifor-

A Tder
B qdfeast
c i
D el

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

e R Ry T Y B Ugd] U T U & 9ed | IR ad faded &1 9 PIRvig-

R e # Y 9 FRUf Teg fakteryraguf ¥ 31 SRy uer & I e A wan € o diuer § S e S T 21 Wiedl F WHR F 99 g T8 Bt B, fF 3% A A 7 v 9 Qe wmfa @
el A 3% fRemar S W 81 ord: UMY gdaq € o+ ¥ ug Y & mmrell § ara o Ioreht g @ SR R orue B, Fiifd gt aR wxA @ ufdedt gy | a1 N dew gHoRIRGl €Y 39 aR A T @
ot 3 RUfy oiR wifa w5 oo wF, eI a kg wReRTs W amfid §1 T € o iR e & it fRuf & iR (fht 3o ) ol arqeiarere uivar & i & i § ofR 39 oifier wra 81 3
I R oS T TRy 2 3 Rl 1 Xaiftd Fed 31 IR g 9% 6 © 5 5 uideh 3R & srugery 3 o Wiy AF 8% §) el 31 sifdare ufyh 3= #) uRarare @ of
TR S gt IRt e o Fie S Wi oI &1 (U B g1 H ol 31 U8 U9 femea amn 1 wirh iR Ity wrmRelt ofk Rufadl & orgEy o wed, $1s 9oue faxn fuffa fe fae, e
e % “wiiare’ @1 o ufkar dreT a1 arifoie faees @ gl € ok 1 & offailg g1 &1 Haad 98 § S ofRd SiRd 7 W, §9 30 g1 39 Sl &I 9aT 3% 8l

Q.No: 50 & g fqufd ", &, @t ; %, %, & ; 1, -, A Fefafea § | fda oRe @t 82

A et $RS

B e PR

C S RS
D TG PRS

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
= N o MU TRy B UgdR U T Ul & e 3fd IR adt fawed 31 9 Sifvig-

YR Tt § AR Bt R T g @ {1 SRl ver & I ifdy amn e @ 6 dieue § S swar FE1 T} Wi & Rt Y 918 ga el B B, 5 SR T ) oo anl 9 el wfa @
SR § 3 fearT ST 9ol &1 or: fufa gdaq € &7 3 a8 FRufa o3 oma # o +ff Sash g8 © ol foxm s §, Fiife et o) U &f Uit o § < 1| ey SueRiRed 2fY 39 aR # T W
Rl 31 fRUfa SR vl a5 oo WIF, IMEIRE T S Rt W SMeRd 71 T g o 3R @ € it R & fieR (Reeht woa ) i Argeiciere uRar & i 8 i § ol S9 aifiter wa §1 3
I R o T SRR =¥ g fafTaist &1 Yaifed Fedt 31 gIRT gy 9% e § 5 7 ol 3R & srurgeyr o ot wfy A 9% ¥ 1 e T sifdarg ufddt 3k ) ufararg @t of
TR SR gt SRR 4 oY B St G Sfie Y U 3 81 H I §1 98 ue Ry amn ¥ wirg iR Il wrrRed oiR fRufidl & s 1 wed, 1S goue fawn Ruffa few fae, e s
fau &5 e o1 oref uRaR g ar Ao fagest @ T8t 7 SR 71 & ofeig €19 &1 Hade I8 § & oiRa $iRd 7 3%, §H /01 T71 T SM<Ia 31 9a1 X8 § )

Q.No: 51 Iuded Teid % STER, TARI 31 T T ¢ b g9 SRR BT S I A 96§
A o &R &
B ufgeft &= &
c ufget it &

D ofdeht T F
Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
R DI B UeaR Y T URAl & TEY IR SaR A [Aded o 797 Pif-
SRR T8 HYHY F HRII
Wit uga e fifo 1 v e wERI
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/42
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= =Ty e O RER

Y THRE T faHT - 6 o R TR
e sita gRAm WR-HTa $HGH IRII

qY JRE § T GR-2fae aad vk ger|
I5a @ o iR He fpd-gw s et @l
TR G F TEA-FTd TG R e S|
G TH ST BN-UTER ST BRI

BH-GH A I TR-RT e gE W)

TR U IG-STF-SRIH IoF HR aRTI

M eV A AT T I e AR BT EREE T e e W BN e ™ WG WRERAT T R T TEEEEE T T T e AR AR T R R T A a7 VNI TR T A

Q.No: 52 FmfifRd # ¥ 80-FW H VT HR T 87

A TUD SRDPR
B THS SADPR
C AV SABR
D 3N 3RIBR

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

T PO B TG I T U $ Ge ST SR aral fadhed 1 95 FIfve-
3RSV U8 HYAY S §HRII

S8t ugd SFwH faifoe 3 e @ Weril
Y THRE T faHT -4 W o R R
fseat sitae gl w-Ha HagH wrTl

@Y R W 0E qER-aa 7 IHR R
354 @ o 9fR He frd-gwe i fe =il
T 31T & TGA-FIA TG W HE o
TER THRIA S P-UIER g Tl

BE-FU A I TR-4M gaae g& W

TR ST T6-518-SHR Tt 4R AR

Q.No: 53 $u F = & F fruaT wdiie A 27

A Lot
B gl
C S{YBR
D Bl

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

& FTe P! geaR IS T TR & Gay Ifud IaR dKd e B 76 Bivg-
3 U8 AYAY o gARI

w5t uga oo fafiet @) frcrl T wERIl

IR I T faHr - e o Rian weR)
Rscat s Rl R-A7a $AHH IR7I

Y g ¥ 0 q9R-fida A IHR R
Isd @ o SR U fard-mg g e wri
TR SAE & TEA-TT T8 IR P S|
TER THRICT S PI-UIGR gt bl

F-FH A TN AR gerd! 9@ R

THfeR HHd I6A-Sa-SIER TSI R ARTI

Q.No: 54 Iudad Wl & e H, Yo vd MR 4 | ST g1 T5alt 57

A e wd He TaT
B whaa gaT
C g U
D
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/42
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T ga
Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

I TR &) Tgr U Y URAT $ e Sfd SaR a1l faded T 994 Fifve-
SEU Ug TYHY <N gARII

SI6T ugd SFWH faifie ® e @ Weril

TR THRE T faHT - 6 o R TR
et sitas gRaTeht R-ATa HSHH JRII

Y JReg ¥ e R-fie wew WHR HeR|
I3a G o iR g f5d-wme i A wm
TR SHE & SIed-aTd g W FET
TR BRI 3T TR ST bl

AU A I TR gl gE@ R

TR U T6-S4-SHIHR o 4R AN

Q.No: 55 fmfifad # ¥ fafest &1 orf & 82
A T8 I W8 WR F W1 fm 3 ¥

B g RIF ST At & g e B
c T8 M W8T A A9 T aeie 3 g i 81
D € R el gt o e e g 23 1

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

& HToHIY BT UG YP T U & GeY IR IR a1 e 31 757 Pfe-
3R=UT I8 AYAT G GARTI

w5 uga oFe fafast @1 e T weRI

T AR T faHT - 3 o R TR
feat sitae gRamell w-Hre HHgH 9RTl

Y R Y TE quR-3fida Ao IHR TR
Ied @1 o SR g fd-wmey i fer am
RN ST & Ied-aTa I R FE S|
TR THRI S BI-TTHR TG AR

BH-HH T I TR gorball g@ W

TR S IGA-S1-SHR I9 2R AR

Q.No: 56 frfIRad # Q BI-31 Weg fIuT ST vafgarh T8 82
A Peov

B THH
C g
D =

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

P& Tea ®1 ggaR IS U IR & Fad Ifd SaR aw [eed &1 7o Bivi-
SRR U8 AYHY S ERII

Wi UgT oo fifa 1 v ue g

WY TR T faHr -7 3 o R e

fseat s gRarlt R-HTd $SHT IR

oY o7 A 7E qgR-fida Ay IHR TR

Jga @ R iR g frl-gug s Aw @

TR S{E & Fea-aTa T8l R F S|

TR THC S PI-UTR W AR

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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= =Ty e O RER

BA-HH A I G- 1A garape! I W
TR FUd I§A-Sd-SHTHR ToHT R Tl

M eV A AT T I e AR BT EREE T e e W BN e ™ WG WRERAT T R T TEEEEE T T T e AR AR T R R T A a7 VNI TR T A

Q.No: 57 fFmfifed & ¥ oy ez 1 Wi Sudad vfdkadl § =it o ma @2

A Rrar
B il

C FE
D A=

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

= SOy &) UgaR g MY U F Yed 3T SRk 9 fadey o1 9w Sifvi-
SRR UE HYHY S HRII

et U e faifes 3 firerar T eril

TR AR T faHT R-T 3 o R wEeR|
e Sfaw ghard R-ATa FAGH AR

Y R F TG qgR-3fidal 7oy IHR TR
I3a @ o 3R He frd-vmg g e wrn
RN S{E & AIeE-aTa Fel W S S|
TEX THRIAT ST BTSN S5 PRIl

BA-FH T I TR gowal T@ W

AR F TEA-919-TER TN R ARTI

Q.No: 58 W “wafadl Fo1” &1 fF & § @ o 32

A [ THT HIA
B TG-S FE
c AT ARAT

D 5:@ ¥ o Frer

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 59 fm # & fguifes s= e, Ao At iR i & srdend
PR W T

A TS, SIS

B forege, forea

c TS, favga

D Ffsa, P

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 60 = & & Iwiifitqare 2eg &1 Wt o SaRu-

A i R 3ifie dnit @1 aifte J aifdr R wrem anfi
B 3% F 1 Nl &1 9 A few WA o

c FH Y FH il 51 B0 A B fa e o)

D FH A T il 51 HF § it R e o

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 61 What should come in place of the question mark (?) in the following question?
2466858
45 + 18495 + 27 =7

frafafad vy # gyaee fag (2) & RIM | &1 31T Fifg?

45 + 18495 + 27 =7

735
A
735
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/42
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it iEmimy M #FFE BRI

N AT E AT e A R R RE AR B e O e ™ VO TN e ™ WY WRTAAE TAT T T DR EEED T T T e T R A AR A T O e ™ 7 VN e T ER AT AN

730

726
C

726

746
D

746

Correct Ans : B

Subject : Mathematics

Q.No: 62 What should come in place of the question mark (?) in the following question?

2467026
333 x 9+666=2? x 33
e vy & uyares [ (2) F RIM W @1 31 9iiRe?
333x 9+ 666 = ? x 33
126
A
126
111
B
111
113
c
113
121
D
121

Correct Ans : B

Subject : Mathematics

Q.No: 63 What is the least number to be subtracted from 945 to make it a perfect square?

2467171

s gUf a1 §9 & o 945 § wer arcdt wed SIS wen w1 82

16
A

16

30
B

30

24
c

24

45
D

45

Correct Ans : D

Subject : Mathematics

Q.No: 64 At present, the ratio of the age of Maya and Chhaya is 6 : 5. After 15 years the ratio of their age will be 9 : 8. What is the present age of Maya?
2467227

FaH B TR SR ST1 B MG BT S 6 : 5 71 15 T S5 IS SR BT U 9 : 8 TN TR B GHM 31g T 82

21 years
A
2194
B 24 years
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 15/42
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it iEmimy M #FFE i Rl hll Dttt g B

249

30 years
C

30 9

40 years
D

40 o

Correct Ans : C

Subject : Mathematics

Q.No: 65 A game card is 100 cm by 50 cm. What is its perimeter?
2467493

TH 10 1 100 Jit o0 50 It B 1 3HH oRfy 7w 2

300 cm
A

300 ¥t

240 cm
B

240 &

425 cm
e

425 ¥

500 cm
D

500 ¥t

Correct Ans : A

Subject : Mathematics

Q.No: 66 v = 5 1 . -2v)2 - -v)2?
el ] If x +y = 0, what 1s the value of (x - 2y)? - (2x - y)

TR x+y =0, (x- 29)2 - 2x - y) BT A 2

9
A

9

3
B

3

o
C

o

-3
D

-3

Correct Ans : C

Subject : Mathematics

Q.No: 67

6X6X6—5X5X5
. $OXO—IXOXS o
2467840 1he value of ?

6X6+6X5+5X5

6X6X6—-—5X5X5

6X6+6X5+5X5 AT =2
1
A
1
5
B
5
C 7

SENE R R

NN TR e A R A | WA

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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it iEmimy M #FFE RRAN AR R TR AR ARRE T RN NS B R REEE R e s N g T
1 — — 4

10

10
Correct Ans : A

Subject : Mathematics

gi\g;o%s;; Find the value of (

V1521 11 )
11 V196/°

V1521 11
@——xﬁﬁymnmamﬁﬁml

11

62

62

39
14

39
14

86

86
11

11

Correct Ans : B

Subject : Mathematics

Q.No: 69 An angle is double its supplement. Find the angle.
2468056

TH DI WG4 & GRS BT ST g1 BT 1 pifere

120e
A

120e

60°
B

60°

90°
C

9090

135¢
D

1350

Correct Ans : A

Subject : Mathematics

Q.No: 70 In a cyclic quadrilateral the sum of opposite angles is:
2468083

TF T agus § R S a1 A g 3
Equal
A
HA
Complimentary
B
TP
C Supplementary

SENE R R

NN TR e A R A | WA

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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it iEmimy M #FFE BRI

Ry

Unequal

A
Correct Ans : C

Subject : Mathematics

Q.No: 71 Solve for the unknown in the following equation:
2468374
8(x+3)+2=(x-2)2.

frufafas adiewor & srma & fg ga a3

8(x+3)+2=(x-2)2

5

-5

-5

3
Correct Ans : B

Subject : Mathematics

AT E AT e AT R R REAR B e i e ™ VT TN e ™ MY

SENE R R

b gl

A i .

A ER

i v

Q.No: 72 A given rectangle and a parallelogram have the same area. However, many Class IV students respond the parallelogram has a larger area. How can a teacher help the students

2468528 their areas are the same?

T 12U 5T 3 IR GHiR-Tgu BT &Aa THM B, TReg BT IV B 3% Rientidl 3 Iw ar i guiR-ugus &1 dama aifte 81 Rierw, Rienfifdl @1 o aagm § 59 TR gemd o aedl i

Using scale
A
T &
Using a geoboard
B
S & wir &
Using a graph paper
(9
I (A1) YR & W §
Using paper folding
D

BT HiSA & T

Correct Ans : C

Subject : Mathematics

Q.No: 73 A good mathematics teacher is one who-
2468595

IR T T oD &P T8 e § -

encourages convergent thinking
A

SRR W Y iR Fe

follows the same method always
B

TR T € R o e R @

gives only a lot of problems to practice with
C

NI B & FIY e Iga IR THE A §

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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D remains helpful, insightful and explain things well

T, Saeivqul e § IR el B ot RE A &

Correct Ans : D

Subject : Mathematics

Q.No: 74  Find the common factor in the quadratic polynomials x + 8x + 15 and x? + 3x — 10.
2469997

T TgUET x2 = 8x + 15 3R x2 + 3x — 10 & IHUMY UHES G BT

x=-5
A

x-5

x+5
B

x+5

5-x
Cc

5-x

-x-5
D

-x-5

Correct Ans : B

Subject : Mathematics

(22&";03537256 In a right triangle, one angle is 30° then find the ratio between acute angles.

T THEIT BRI A, T FI0T 30°8 o T 0N & & @ U AT ATl

1:1
A

1:1

1:3
B

1:3

1:2
C

1:2

2:3
D

2:3

Correct Ans : C

Subject : Mathematics

Q.No: 76 Two numbers are in the ratio of 3:5. If 6 added to each of them the ratio become 2:3. The numbers are
2473413

31 get 3:5 & orgura A B 9 370§ vdS § 6 SNg far oY o Srgurd 2:3 € ST 1 G -

21,35
A
21,35
30, 50
B
30, 50
24, 40
c
24, 40
18, 30
D
18, 30
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 19/42
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Correct Ans : D

Subject : Mathematics

Q.No: 77  The Main Component of Curriculum development

2475403
UTeaTd Ay $1 g8 9ed
Educational objectives
A
RUEEaoR)
B Content
Teaching Method
C
g T TSt
D All of the above
SR F ot

Correct Ans : A

Subject : Mathematics

Q.No: 78  Curriculum does not include:

2475593
Ureal 7 i T 8
A Subject matter
g
5 activities and experience in school situations
o ot RufeEl # nfofafte ok s
Topics from different concepts
C
faftva erquromai & fywa
D Textbooks and teaching aids
Rreqor WeTaE TR

Correct Ans : D

Subject : Mathematics

Q.No: 79 The most possibility of guessing is

2475637

A TR 3 G ifRE WU ... #y
A In matching type terms

LS

B In true-false terms

T ™A
c In multiple choice terms
D Fill in the blanks

e A 4=
Correct Ans : D

Subject : Mathematics

Q.No: 80 What is the characteristic of an essay-type examination?

2475919
FeY-TER Bt udten @1 fRivan @& g2
A Validity
B Reliability
ortiar
c Objectivity
FregerraTe

Depends on memory

D FRRMR &=
Correct Ans : D

Subject : Mathematics

Q.No: 81 If

2480958
35 +48 =47
23 +34=18
15+ 25 =15

then, 11 + 21 =?

Il

35+ 48 = 47
23+34=18
15+ 25 =15

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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a,11+21=7?

3

13

13

9
Correct Ans : A

Subject : Mathematics

Q.No: 82 Given interchanges: signs + and +, and numbers 12 and 9; then the value of 12+ 9 x 3+ 2-1is

2481021
fow T e (ou § wea): g + iR 4, SR FWM 12 R 9; W12 +9x3+2-1FHAAS
3.25
A
3.25
2.75
B
2.75
3
c
3
3.75
D
3.75

Correct Ans : A
Subject : Mathematics

Q.No: 83 Given interchanges: signs — and +, and numbers 7 and 4; then the value of 15+ 7 - 4 is

2481037
o T e (S H gea): I - SR +, IREBN 7 iR 4; W15+ 7 -4 FTAAR
4
A
4
18
B
18
-2
c
-2
2
D
2

Correct Ans : B

Subject : Mathematics

Q.No: 84  which is the least important in teaching?

2482475
reqor & WY U Hg@yul HF W@ B2
Punishing the students
A T 7 2 T
Maintaining discipline in the class
® T A SR SIY &
C Lecturing in impressive ways
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 21/42
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TGRSR Tid! & SR

Drawing sketches and diagrams on the black-board if needed

b I 3R B o Kp-als W ¥@IRA iR 3G T

Correct Ans : A

BRI

Subject : Mathematics

Q.No: 85  The correct option in M.C.Q is?

2482567
w3 H a9 e g2
Answer
A SR
Premise
B
IR
Response
C
afefar
D Destructor

Correct Ans : A

Subject : Mathematics

Q.No: 86 What are the types of objective of teaching mathematics?

2482572
T T & oA fre TR & B 82
Educational, teaching
A e, Riggor
Cultural, Intellectual
® srephe, A2
Disciplinary, Aesthetic
¢ SIS, St
D Utilitarian, Psychological

,
Correct Ans : A

Subject : Mathematics

Q.No: 87 Name the board which is used by teacher to teach the basic shapes of geometry?

2482632
I 9IS FT A TR forae ST Rigies Sfifd & sMuRygd oMHR Rgm & e ava 82
Geo Board
A
EICICIS]
Abacus
B
W
Diene Block
c
S il
D Stick Method
o Ry

Correct Ans : A

Subject : Mathematics

Q.No: 88 To be a “good” mathematician one must be able to

2482662
T "3y T S & g et Y werm § aifee
understand, apply and make connections across the concepts
A SRR ) S, A e o e 7 B g
master the techniques of answering questions
° et & o 27 9 i 3 e g
memorize most of the formulae
¢ St G 1 g v e
D solve the problem in no time
TT & I N GO B 5 FA F

Correct Ans : A

Subject : Mathematics

Q.No: 89 which point is not included in the professional skills of a teacher?

2482717
g & IR P F B w1 fig 2w T8 82
Self Knowledge

A 3T I

B Dedication

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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fAmr
To experiment well
¢ 33T T AT
D Satisfactory anwledge of social matter

DT =
Correct Ans : D

Subject : Mathematics

Q.No: 90  Meaning of the word ‘Heurisco’ is

2482741
RS g BT 34
A To know
SRl
To think
B
e
c To learn
D To discover

G ST
Correct Ans : D

Subject : Mathematics

Q.No: 91 What would you do to prevent environmental damage?

2469358
Tafaeig af B J57 & R o F@ s
Reduce, reuse, recycle

A
B IUERT, TA: SUGNT, T: THHUl
Land filling

B
PRI
Deforestation

Cc
Tl B Berg
Industrialization

D

eiieor

Correct Ans : A

Subject : Environmental Study

Q.No: 92 Ozone hole is a:

2469506

et 5 § -

Hole in the atmosphere
A

qranaR i 5%

Hole in the Hydrosphere
B

Srersd 7 fow

Hole in the troposphere
C

s 7 fox

Destruction of ozone layer
D

SIS TR T T
Correct Ans : D

Subject : Environmental Study

Q.No: 93 Which human activity can decrease the oxygen levels present in the atmosphere?
2469746

T 3 g Tl g1 argHew & IufRya sifpefic o1 JaR 1 8 Tl 3-

A Deforestation

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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g el 3 Ferg
Animal hunting
B
ST BT RibR
Mining
C
TR
Aforestation
D

g T
Correct Ans : A

Subject : Environmental Study

Q.No: 94 The co-operation of maximum number of people by the environment is called-

2470175
TRl & gRT Siftiean safdad @ S P Hedi Heard 8-
biological potential
A
S fava
pressure capacity
B
qe &Hal
population size
C
ST SRR
environmental constraints
D

TaiaRui Sfaie

Correct Ans : B

Subject : Environmental Study

Q.No: 95 At primary level, EVS teaching is based on-
2470296

TR ®R W, SATH Rigor anenid 3-

Theory only

el Rigia (2R aiFrefl)

Theory cum practical

2R w9 dfFesa

Theory cum activity

2Rt HH giaefyd

Practical

Wesa

Correct Ans : C

Subject : Environmental Study

AT E AT e AT R R REAR B e i e ™ VT TN e ™ MY

SENE R R

b gl

Q.No: 96 Which one of the following levels is not related to the affective side of Bloom's classification of educational objectives?

2470497
e Il & sqH & afHRul F UIaTHS T 1§ § B 91 TR Geifda e §
Organisation

A
AR

B Knowledge

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Bl

Receiving
C

3RIET

responding
D

Sfgfepar

Correct Ans : B

Subject : Environmental Study

Q.No: 97 How does the antibiotic Penicillin work against the bacteria?

2470787
tarifes dffifen Yadifar & Rems 34 $M o g2
Stops the growth of bacteria
A
i & faere ot o §
Act on the nucleus of bacteria
B
e & Hae W PHE X
Blocks the bacterial processes that build the cell wall.
C
i Ry & areft shtary wfdansit @t e @
Enhance human immunity
D

7T wiRen B Iy
Correct Ans : C

Subject : Environmental Study

Q.No: 98 Owing to the conditions of high temperature and humidity, the weather becomes rather oppressive during the day. This is commonly known as;
2471961

F A SR sl 31 (R F BRon, R & T Ay St sRige g 8 oIl 81 39 SR W 39 WY O 9T §;

Kaal Baisakhi
A

PTe SR

October heat
B

SRR T

Bardoli Chheerha
C

TRSIER BReT

Monsoon
D

AR

Correct Ans : B

Subject : Environmental Study

Q.No: 99 A carnivore with stripes on its body moves very fast while catching its prey and is likely to be found in

2471963
T TR W Rl I1 U HiGTERT S RIGR &1 Ybgd GHT 9gd duil T 3 gal € 3R 39S U 91 &1 YHE &
Polar regions
A
o &
Deserts
B
Risic
Oceans
o
HETR
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D Tropical rainforests

Sumiedf aufaT
Correct Ans : D

Subject : Environmental Study

Q.No: 100 CFC continuously generate which radicals into the stratosphere and damages the ozone layer

2472101
HUHRR TR THA HSA F B AT IAF R 3 SR WA W BT A Tgaa §
Nitrogen dioxide
A
TGO STR3RES
Peroxy acyl nitrate
B
Rl T TRge
Carbon dioxide
C
HIE SRS
Chlorine
D
FAR

Correct Ans : D

Subject : Environmental Study

Q.No: 101 Out of the following, which bacteria is oil eating bacteria that can clean up oil spills in sea?

2472115
Fafaiad § & S a1 Siary] da @M arar siang § S 99 & e 0F 3 9% SR Gadl 82
Coliform
A
Eoiian
Alcanivorax
B
Barcies
Thiobacillus
C
friaRes
Streptococcus
D
Lcaca)

Correct Ans : B

Subject : Environmental Study

Q.No: 102 The Mundas and the Santhal of Chota Nagpur region worship which trees?

2472462

BIeT TR 87 & HeT SR Tt 5 I &t g ad 82

mahua and kadamba trees
A

TG 3R e F U

tamarind and mango trees
B

A oK oM & U

peepal and banyan trees
c

g R e & i

banana and coconut trees
D

Fa IR Taa F A3

Correct Ans : A

Subject : Environmental Study
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Q.No: 103 When one organism takes advantage without affecting the other living organism then it is called.

2472797
foeit Tgaredt Sita 1 wifad g 3 S Ue Sfta @ e 8, @ P 8-
Parasites
A
it
Partner
B
Ferit
Parasite (mritopjeevi)
C
priLsic
Symbiosis
D
wgitdt

Correct Ans : B

Subject : Environmental Study

Q.No: 104 In how many technology clusters DRDO’s lab has been grouped?

2474043
DRDO &I TR I e Weifiie! Twgl # angipa fovan man g2
14
A
14
10
B
10
7
c
7
5
D
5

Correct Ans : D

Subject : Environmental Study

Q.No: 105 Which of the following is the first U.S. mission to collect a sample from an asteroid?

2474046
Fafifed & 9 o1 U@ &5Us ¥ T UHd $3 ar ueen 4,09, fiwm g2
AMICUS- REx
A
AMICUS- REx
OSIRIS- RExX
B
OSIRIS- REx
REXIS REx
C
REXIS REx
OTESES REx
D
OTESES REx

Correct Ans : B

Subject : Environmental Study

Q.No: 106 Plants contain nearly __% of water by weight.
2475859

Qi & g5 & T T AT __% T g 2
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A 10-20

BRI

10-20
40-50

40-50
80-90

80-90
30-40

30-40
Correct Ans : C

Subject : Environmental Study

Q.No: 107 Soil can also be termed as which of the following?
2475980

gt &) Profefaa ¥ § @1 wer o1 wadr 82

Skin of the earth
A

ot &t =

Sheild of the earth
B

gl Bt e

Surface of the earth
C

quft 9 wae

Shadow of the earth
D

Tft &1 BT
Correct Ans : A

Subject : Environmental Study

Q.No: 108 When was the first World Cup of Cricket played?
2476456

fopde &1 ugan fay U &a Jar w412

1975
A

1975

1985
B

1985

1965
C

1965

1945
D

1945

Correct Ans : A

Subject : Environmental Study

AT E AT e AT R R REAR B e i e ™ VT TN e ™ MY

Q.No: 109 Who is the author of the book ‘Emerging India: Economics, Politics and Reforms’?

2476467
“gufioi 2R sHre, MRiked U ReiRl gwe & dus B 82
Stephen Hawking

A
w g

B Bimal Jalan
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[EERIEIGIES
Bal Gangadhar Tilak
C
o TR foretes
Mahatma Gandhi
D

werem e
Correct Ans : B

Subject : Environmental Study

Q.No: 110 Where is the headquarters of the National Jute Board established in India?

2476615
YRA & AFT YT SIS T Te Fel 87
Bhopal
A
Tt
Mumbai
B
ket
Kolkata
C
el
Bhubaneshwar
D
HYEWR

Correct Ans : C

Subject : Environmental Study

Q.No: 111 What is the national game of Bhutan?

2476644

3TH T AP J F 32

Cricket
A

forde

Football
B

Peard

Hockey
C

gt

Archery
D

dRereht

Correct Ans : D

Subject : Environmental Study

Q.No: 112 what teacher needs to ensure while using the project method?

2477330
UREISHT Ut &1 TN $3d T e 1 a1 AT D BT Azl 82
must ensure linkages to syllabus and curriculum
A
UISTHH Td UsuEai & W Biga siigHt grit
will need to ensure authoritarian learning environment
B
sftrmard de & ARl @1 g S St sravadma geit
C make sure shy and introvert children should not to come forward
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 29/42

Page - 29



it iEmimy M #FFE BRI

ghfa o 5 i ofR sfadet = o) 77 oM

will be required to have a very clear time plan that should not match to the school timetable

Teb 95 O T JG Qo1 1 S(Taxadhal grit off Tkl 1 §Aa qRol & Ad T | afey

Correct Ans : A

Subject : Environmental Study

Q.No: 113 Which learning process is most effective in EVS?
2477390

qoiaRor 3ierg B o At Sty @t ufthar 9 oifties wurdt &2

Indoor based learning process

A
3SR smenfed it &5t ufsar
Homebound learning process
B
R ¥ e Bt e
Outdoor based learning process
C
SIS SR ST Y fdwan
Audio based learning process
D

s ST SifRTE Y ufshar

Correct Ans : C

Subject : Environmental Study

Q.No: 114 Institutional learning resources include:

2477397
TRIPTa fRigor St F e g
Bank, Hospital, Universities
A
¥, sregar, faufar
River, Pond, jungle
B
4, aTa, S
Newspaper, Television, Radio
C
TR T, Teffaer, Mear
Pen, Chair, Carpenter
D

v, T, T8
Correct Ans : A

Subject : Environmental Study

Q.No: 115 The Ozone thickness is given in terms of what units?
2477828

3l B Hiers o gepredl & w9 # i ol 82
Dobson Unit
A
Slaw gfe
Ozone Unit
B
Sl e
CFC Unit
C
Trewd e
O3 Unit
D

Osﬁ?‘:

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Correct Ans : A

Subject : Environmental Study

Q.No: 116 Which part of CFCs react with Ozone in the atmosphere?
2477839

N, B P U IHST F G F Ty siffean Hrar 72

Chlorine
A

FARE

Fluorine
B

TR

Carbon
C

EacEl

Hydrogen
D

TSI

Correct Ans : A

Subject : Environmental Study

Q.No: 117 When was the Montreal Protocol made effective?
2477841

Tif~cad Werbld & $a any, foar mr 412
1985

1985
1987

1987
1988

1988
1989

1989
Correct Ans : D

Subject : Environmental Study

Q.No: 118 Which of the following has CFCs contributed to?
2478055

1. Global warming

2. Ozone depletion

Choose the correct code

fFrafafea # & feus foe f.aw. M. @1 Jmer 82
1. Rzyeandt Jwrar

2. 3l Refia=u

SEEaEk:C]

Only 1

Fad 1

Only 2

Fad 2
Both 1 and 2

M1 3R 2

D Neither 1 nor 2
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a1 eRTE 2

Correct Ans : C

Subject : Environmental Study

Q.No: 119 Continual aspect refers to the assessment of learners’ progress on various aspects from the very beginning of instructions, sometimes referred as
2478716

Fad Ueq & ared AR Bt eea ¥ g it egell R el Sl o S emea 48, Sl edl-at _ swiomi gl

Placement Evaluation
A

A HedidT

Formative Evaluation
B

TS Yedich

summative Evaluation
C

WS GeaibT

Periodic Evaluation
D

SHTAF FedieT
Correct Ans : A

Subject : Environmental Study

Q.No: 120 Annual tests or Unit tests are examples of which of the following kinds of assessment?

2478738
afifes qlien ar s e Fofifaa F @ 50 UeR F seed & IR 82
Formal Assessment
A
SR e
Objective Assessment
B
TUIRE FeiHT
Norm-referenced
C
e effa
Criterion-referenced
D

o -wiaht
Correct Ans : A

Subject : Environmental Study

Q.No: 121 Children character obtained from parents -

2473555
Tl | STeebi o IO uT g -
12.5%
A
12.5%
25%
B
25%
50%
c
50%
75%
D
75%

Correct Ans : C

Subject : Child Developement

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Q.No: 122
2473594

o B EER BRI

At the time of birth the child is

social being

it ot

Anti social being

SIS ot

Egoistic

SEBRI

Religious

urftie

Correct Ans : B

Subject : Child Developement

Q.No: 123
2473681

The process by which a person internalized of social values is ----

fora wfsran & gRT feRy I Gl &1 SRRIRU FRAT R TE . .o

Rationalization

fadastawor

Socialization

LiciEicaug

Re-socialization

g

Assimilation

STHATHI

Correct Ans : B

Subject : Child Developement

AT E AT e AT R R REAR B e i e ™ VT TN e ™ MY

SENE R R

Q.No: 124 What do well planned assessments allow students to demonstrate if the teaching has been poor?

2474288

3R U 33T AT 8 df GRAR eiwad SHT @ 91 ekl s @t sgafa dar @7

the students have achieved the required learning outcomes

B A Rigvr R wre o o §

they students have not achieved the required learning outcomes

B e Rigor aRkea wre T fear @

the assessment was very difficult

BT dgd Hie Ul

the assessment was very easy

STehe Sgel R o

Correct Ans : B

Subject : Child Developement

Q.No: 125
2474449

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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PR I R BRI e M’ VNIRRT AR A

Specific parental practices and attitudes are correlated with particular child characteristics

A
arar-fren & Rk e IR @ R s1a siftraei & ar et 89 §
Child rearing is significant for children’s educational achievements as well
B
vl o A SuaeE & Rig of 5= &1 ureH-do Tyl §
A child tends to imitate the models in his environment
c
T 9 B 39 FaraRor F iiee ) Tod H B g St
Authoritative democratic parents will lead to distrustful children who are less exploratory
D

NI diadifie wrar-frar sifayrh o= o1 o= §7 St o0 eradt

Correct Ans : D

Subject : Child Developement

Q.No: 126 Which psychologists or linguists suggested that thought is totally determined by language?

2476119
fu TaRIf® 41 WIfds 3 are @ § & 9 gufa: o & g1 e € 82
Piaget and Vygotsky
A
firite iR farireast
Skinner and Chomsky
B
R o afraat
Chomsky and Vygotsky
C
et o farireet
Sapir and Whorf
D

R iR =

Correct Ans : D

Subject : Child Developement

Q.No: 127 Child-centred education involves

2476227
e e & =nfer §
children sitting in a corner
A
frm Ay =
learning in a restricted environment
B
wfosa ardraver & e
activities that do not include play
C
Wt Tyt ford Ga it = &
hands-on activities for kids
D

Tt & forg sagie afafafat
Correct Ans : D

Subject : Child Developement

Q.No: 128 The pace of development varies from one individual to another, but it follows ......pattern

2476307
JAfd B IR TH Al T T AR H e Bl 8, Teg T8 STTHT B @ ..., 3MPIA
a toe-to-head
A
@ TRT-3-RR
B a haphazard
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TP eraryd

an unpredictable
c

TP g

a sequential and orderly
D

o TRAfE 3R FurEy
Correct Ans : D

Subject : Child Developement

Q.No: 129 The idea of Basic Education is propounded by—

2476706
g e &1 faar e gRT Sl 3@ m -
Dr. Zakir Hussain
A
3. wifee g8
Dr. Rajendra Prasad
B
I Il g
Mahatma Gandhi
C
TErAT el
Rabindranath Tagore
D

fdsAr @R
Correct Ans : C

Subject : Child Developement

Q.No: 130 The DATB tests do not measure which of the following?

2476848
e, whemr Fafafed F & g w78 B §2
Abstract reasoning
A
ol ab
Numerical ability
B
TS drdr
Clerical speed and accuracy
C
fafre 1 iR wiwar
Emotional quotient
D

WIS Al
Correct Ans : D

Subject : Child Developement

Q.No: 131 Which of the following is shaped primarily by an individual's interaction with the immediate environment?
2476857

1. Learning

2. Maturation

Choose the correct code -

Frafafed # & o1 mufte Fu § aoiie wieu & 9y e i 31 sahe & iR a3
1. it
2. uRgear
AP G -
A Only 1
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Faa 1
Only 2
B
Faq 2
Both 1 and 2
C
QFf 1 afR 2
Neither 1 nor 2
D

Fdr1dRTIH2
Correct Ans : A
Subject : Child Developement

Q.No: 132 Learning can be described as which of the following processes?

2476970
it @1 Frafafea § § e ufsn & wu & aftfa fasar o v 32
Passive process
A
fAfSra wftear
Inert process
B
Sifsa uftean
Active process
Cc
wfeg i
Spontaneous process
D

TR i
Correct Ans : C

Subject : Child Developement

Q.No: 133 Ram never forgets the names of the people once he sees them written down. Which kind of a learner is he?

2477073
il F AW R gU 3@ & g 3w i T el 9% e Re a1 e §2
Visual learner
A
TP TS
Auditory learner
B
0T ST
Field dependent learner
C
aF-aierT STl
Field independent learner
D

& sy st

Correct Ans : A

Subject : Child Developement

Q.No: 134 A child can be considered emotionally disturbed if?

2477573
U@ §= Bl HEIES U § WA T S 9l @ afe?
Unable to learn due to sensory factor
A
Y BRP $ PRU e 7 3rrwf
Unable to build satisfactory interpersonal relation
B
efoore TRERe et 77 H e
C able to hang out with peers
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IRl & A A & e

shows general and pervasive mood of happiness

TR BT AR 3R TGS B B a=iiaT |

Correct Ans : B

Subject : Child Developement

Q.No: 135 Which of the following statements is NOT true about Severe Physical Maltreatment of children ( child abuse)?

2478258
frofafed & & $1-91 FuA T & TR IR FSTER (I Yo & TR § 98 T 27
It cannot be a cause of Multiple Impairments
A
T TP &ft 1 SR TE 8w
It can cause brain injury
B
T8 AR @1 T T BRU &7 TSl ¢
It can adversely affect a child’s learning abilities
C
g T @} ST B Bral W IRiGd WHTE BT Il §
It can adversely affect a child’s socio-emotional development
D

Tg T ¥ I -HIETee RPN W WRied UHE S1d Yol &

Correct Ans : A

Subject : Child Developement

Q.No: 136 The teacher finds that N, a 6 years old girl child, has problems in independently performing the activities like eating, dressing and toilet activity. The teacher identifies this to k
2478295

gt 78 S § b 6 A1 B S=h N BT W, BUS e SR Wi SRft fafaftidt i @dd wU W B H w gl g1 Rifdr 58 & Wepd P Y F U § PR Fbdll ¢

Cognitive Disability
A

A RIeRI

Visual impairment
B

=6 it

Speech impairment
C

T SifeEr

Learning Disability
D

SRRT SRR

Correct Ans : A

Subject : Child Developement

341\17(;311397 As per the PWD Act, 1995, a person with disability has to be certified by a medical authority that he or she is suffering from not less than of the disability.
diesgg! iAW, 1995 & SUR, 3RIad e @I fifdad T gRT TG &1 ST 91feT i 98 Y FH RIB A § T el 7
20%

A
20%
25%

B
25%
30%

c
30%

D 40%
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40%
Correct Ans : D

Subject : Child Developement

Q.No: 138 Which of the following is the shortfall of the Bronfenbrenner’s Ecological System Theory?

2478940
frofafed & & o9 sivweR & uRffoe 7 Rigia 3t o 32
Its inability to make the system simpler.
A
IR BT TR T H TP SfEw|
Its inability to explain the complexity.
B
i 1 TSN A H T gl
It creates more problems than it solves.
C
g & P B o | i ey U1 var 81
Its inability to deal with simplification
D

WReltor § Froe F sredar

Correct Ans : B

Subject : Child Developement

Q.No: 139 Conventional level of Kohlberg’s theory has __ and ___ stages.

2479270

Fraat & Rigid & IRuRS "TRA_ R ___ WUrg

1and 2
A

18R 2

2and 3
B

23R 3

3and 4
C

33R4

4and5
D

43R5

Correct Ans : B
Subject : Child Developement

Q.No: 140 Which of the following statements is NOT correct by Sri Aurobindo for the progressive education?

2479514

ot oRfEY Ry el fRien 3 forg Fafifee & & &9 0 oo 7€ T &2

Education helps to bring out to full advantage, make ready for the full purpose and scope for the human life.
A

Ry guf @ @9 & TEg e B, AT S & o quf I ok TRk & i SR et 1

Right education helps an individual to enter into the right relation with the life, mind, and soul of the people to which he belongs.
B

et e U R S A B Sfte, T IR e & Wy Wt Way o § Aeg weeh § RS 9 Sl R

Life has no purpose for an infant in its initial years of learning.
C

e & TR auf 7 Ry & R ofeT &1 318 Sxa T e gl

With great total life, mind, and soul of the humanity to which he himself is a unit and his people or nation a living a separate yet inseparable member.
D

A & TeH Yuui Sftad, HT iR S & W, o e 98 W 18 3T § IR SUE AN 41 U U9 ST A Sifi g wew B
Correct Ans : C

Subject : Child Developement

Rahindra Nath Taaore alwavs nerceived education as a tool for
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QuNo: 141~ T 1 ey e e e
2479549
g Y B1GR A AR e B F AU b Iy & w9 & 761
Moral change
A
At afadT
Economic change
B
e aiad
Cognitive change
C
TIEIEE TR
Social change
D

IS Feerd
Correct Ans : D

Subject : Child Developement

Q.No: 142 Learning of digits, alphabets, multiplication tables, etc. are examples of

2479808
feTeht Wi, quferen S, qoH AR @1 e st & IETEM E
Successive processing
A
ARG HeH Tl
Simultaneous processing
B
HgepTirEs WUl
Arousal
c
T e
Attention
D
S{AYH

Correct Ans : A

Subject : Child Developement

Q.No: 143 The two-factor theory of emotion presumed that our experience of emotion grows from our awareness of our

2479993
UG & SI-BRS Rigia 7 A1 {5 7R I3 3 oryfd TIR & Ufd I Redar & gRT 347 gl 31
Present arousal
A
APIIE Jee
Past arousal
B
fadht sge
Social arousal
Cc
IS FEET
Prediction of future event
D

yfasy &t wer Bl gaigEE

Correct Ans : A

Subject : Child Developement

Q.No: 144 Which of the following systems restores and conserves energy and brings the individual back to a normal state?
2479998

Fafifed & & S 91 01, Sl WRewr g1 TSR0 HXa § a1 Jfed o1 g R § g: dera 82
A Sympathetic
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eca]

Parasympathetic
B

W

Both sympathetic and parasympathetic
C

St SR AT S

Neither sympathetic nor parasympathetic
D

T gt ofR T € Wt
Correct Ans : B

Subject : Child Developement

Q.No: 145 Which of the following option is a difference between Piaget's and Vygotsky's developmental theories on a critical perspective?

2480270
fafafed & & sF-a1 fasc fame ok adiicet & faeres Risidl & €9 te Teayuf uRileg o1 SR 82
Emphasis of a child being an active learner
A
T = & Fipd Riemif €1 W SR &
Belief in the developmental perspective of constructivism
B
TETarE % faeraree uRtier ¥ fasr g
Focussing on cognitive development and its individuality
C
I e o Iw! Jafdiad ) aF $ed oo
Association of social interaction with cognitive development
D

TS AP & A ARG W0 BT IS BT
Correct Ans : D

Subject : Child Developement

Q.No: 146 Rita, a class VI student, previously a latecomer to school, starts going to school early to play badminton with her peer group members. This behaviour is due to
2480285

B e B BHET AT, S UgA THa A R § oAl R, 3o WgwH-THg(peer group) ¥ TE! & WY ST Jer & T St Tpa ST T R &l 1 T FHAGER B PRI

Peer influence

A
TEHH! YU
School rules
B
&a & fan
Teacher's advice
C
Rere &t waie
To reduce her weight
D

ST IO HH A & g
Correct Ans : A

Subject : Child Developement

Q.No: 147 Who among the following quoted the phrase stating that "Children are not empty vessels to be filled with knowledge"?
2480367

FRafefad & & fHea 39 gty &1 Iqyd a1 R 78 o1 T 8 & o= I & W oM & i @relt o= 781 82

Jean Piaget

i ot
B Thorndike
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UHSEH

Gagne
C

B

Gestalt
D

eI

Correct Ans : A
Subject : Child Developement

Q.No: 148 Which of the following is a novelty approach used in classroom teaching?

2480431
e g # Ffafea #  $-91 T JURTH iR e S 82
Chalk and Talk method
A
< IR o Ry
Textbook
B
RICRESEY
Lecturing
C
SR &
Smart board
D
TS

Correct Ans : D

Subject : Child Developement

Q.No: 149 Which of the following personality trait shows the emotional development of the child?

2480702
1. The child attain social maturity i.e the ability of co-operation and sacrifices for others interest.
2. If their concern for the future creates disturbance.
78§ & 1 A1 SR e = & e e i 3T 82
1. Wwﬁmqﬁwﬁmm%a{mmaﬁwﬁ%mmeﬁmﬁ &Il W §
2. Tt e & forg Su! Ffar drarh O adt
Only 1
A
Faa1
Only 2
B
Fa@ 2
Both 1 and 2
Cc
M 1 3R 2
None of the given options
D

ferw e facpedt & & @i TE

Correct Ans : A
Subject : Child Developement

Q.No: 150 50-75 is the range of in Morons.
2480898
AR & 50-75 G|
Q
A
LT
B
3T
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C Both IQ & IT

M eV A AT T I e AR BT EREE T e e W BN e ™ WG WRERAT T R T TEEEEE T T T e AR AR T R R T A a7 VNI TR T A

1Q 3R 1T Ft

None of the given options

fow U fepedt # & B T

Correct Ans : A

Subject : Child Developement
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